=
e
X

g

AT 22 D)
BT LORM R MK RS

SHol T OIS B2lSE 25 (S 5e)
S - B GA(BH) - NRAY - B2 Ofl & ot 1= HRE2

1,411,268 1,356,651 54,617

el ot 3 265,956 265,956 0

= 1,145,312 1,090,695 54,617

1,227,037 1,168, 136 58,901

Mutor™M 22| MH 2= = 265,956 265,956 0

S 961,081 902,180 58,901

929,731 864,302 65,429

Metoer 2telss 23t = 218,000 218,000 0

= 711,731 646,302 65,429

MO sy = =8 474,731 409,302 65,429

201 LEr2Ed| 174,881 199,480 A24,539

01 AtR2eltl 12,152 13,809 A 1,657

OoIFBIRIHEA L2t 8,800 0,000 A1,200

OAZHANNE L ATHXIR 3,352 3,809 A457

02 =244l 144,073 162,671 A 18,598

OZEMHBHAALY SN2+ 44,431 52,400 AT7,969

O=JtM2CIBEAAY SXNE+ 19,004 35,000 A 15,996

ORIYAFEAIAH SXNE+ 39,838 45,271 25,433

OSHAALLANZ)| 2HSL 23 0,800 0 10,800

03 HAr2ZHI 18,656 23,000 A4,344

O=JIMHHESSSEE AAl 14,406 18,000 A3,5%4

oML OEBRIYYTY TS 4,250 5,000 AT50

202 O4d| 41,850 49,822 AT,972

01 =3U0bl 41,850 49,822 AT,972

Offtate] detd R F& 41,850 49,822 AT,972

203 HREAY| 8,000 0,000 £2,000

03 ABEFYREZIY 8,000 0,000 £2,000

OGN ZeltHe = 8,000 10,000 A2,000

303 &= 8,000 0 8,000

01 Z&3 8,000 0 8,000

©'08HE MLHBRABII AR AlAS 8,000 0 8,000

401 AlEHIZ 20| 209,000 119,000 90,000

04 Al&H 209,000 119,000 90,000

OMLAEA =Y 24 159,000 119,000 40,000

OSEAALSIHZIN(F2AA) DH A 50,000 0 50,000

405 KHoHE S 33,000 31,000 2,000

01 A ESFSHI 33,000 31,000 2,000

oMU LE= S MAFH PY 2,000 0 2,000

297,306 303,834 26,528

QHDE MES =X 3 47,956 47,956 0

= 249,350 255,878 78,528

MR SI2E =& 23 =4 38,160 42,400 A4,240

201 g2y 24,360 27,400 £3,040
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SATHERRID )

elibnze HuG T0 (ermriag)

SA - HH - S(E) - HMPAY - BES 01l o JlZ HimE=1
01 AtR2t2l8l 8,400 10,000 21,600
OtNZs2s 2= MA 8,400 10,000 21,600
03 A2 7,560 9,000 1,440
OQtM=X SAIEH iz 7,560 9,000 21,440
207 &1 OHEHH| 13,800 15,000 A1,200
02 HAHHEH] 13,800 15,000 21,200
OMH2AC|HESRAIAE 5 13,800 15,000 1,200
259, 146 261,434 A2,288
AMEo2S O & A4 - EHl XA = 47,956 47,956 0
= 211,190 213,478 N2,288
202 04 10,712 13,000 A2,288
01 =LH0obI 10,712 13,000 N2,288
Ootd 2 AIdEH et =0 10,712 13,000 A2,288
Y 2B (M h2te| ) 178,268 188,515 10,247
l=3Hl 50,319 60,566 A10,247
FA2E JI=23H| 50,319 60,566 A10,247
201 2er2dH| 39,183 46,646 AT ,463
01 AtR2t2lsl 37,973 45,206 AT,233
ORAM2Y AtR22Y] 37,973 45,206 AT7,233
02 33294l 1,210 1,440 A230
ORAN2Y 33224 1,210 1,440 A230
202 04 11,136 13,920 A2,784
01 =LHHbI 11,136 13,920 A2,784
ORA=2Z =LHOHI 11,136 13,920 N2,784
HRE S (M2e|t) 5,963 0 5,963
RSP 5,963 0 5,963
LRI - QIR 2 2 N2 xs Btet 5,963 0 5,963
802 Btet=JIE 5,963 0 5,963
01 =2NEXIEES 5,963 0 5,963
O'06E =oi=7AS 5,963 0 5,963
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